EXTENSIONS OF INEQUALITIES OF THE LAGUERRE AND TURÁN TYPE

MERRELL L. PATRICK

It is shown that

$$\sum_{j=0}^{2k}rac{(-1)^{j+k}}{(2k)!}{2k \choose j}F^{(n+j)}(z)F^{(n+2k-j)}(z) \geqq 0$$
 ,

for $-\infty < z < \infty$, $n \ge 1$ and $k \ge 0$, where F(z) is an entire function of a special type. For k = 1 this simply is the well known Laguerre inequality

$$(F^{(n+1)}(z))^2 - F^{(n)}(z)F^{(n+2)}(z) \ge 0$$

 $-\infty < z < \infty$, $n \ge 0$. From these inequalities we obtain the inequalities

$$\sum_{j=0}^{2k} rac{(-1)^{j+k}}{(2k)!} {2k \choose j} u_{n+j}(x) u_{n+2k-j}(x) \ge 0$$

which hold for such values of x, for which the functions $u_n = u_n(x)$ have a generating function of the type

$$\sum_{n=0}^{\infty} u_n \frac{z^n}{n!} = F(z) \; .$$

1. Introduction. Consider the entire function of the form

(1.1)
$$F(z) = C e^{-\alpha z^2 + \beta z} z^r \prod_m (1 - z/z_m) e^{z/z_m}$$

where $\alpha \ge 0$, C, β and all z_m are real, and $\sum_m z_m^{-2}$ is convergent. These functions have been studied by Laguerre (see Borel [1; pp. 32-47]), Pólya and Schur [9], and others. Apart from constant factors, these functions are the only ones which are limits of polynomials with real j zeros only.

In §2 we show, for integers $n \ge 0$, that

(1.2)
$$|F^{(n)}(x + iy)|^2 = \sum_{k=0}^{\infty} L_k(F^{(n)};x)y^{2k}$$

where

(1.3)
$$L_k(F^{(n)}; x) = \sum_{j=0}^{2k} \frac{(-1)^{j+k}}{(2k)!} {2k \choose j} F^{(n+j)}(x) F^{(n+2k-j)}(x)$$

and $F^{(n)}(z)$ denotes the *n*th derivative of $F(z) = F^{(0)}(z)$. Furthermore, we show that

$$(1.4) L_k(F^{(n)}; x) \ge 0$$

for each $n \ge 0, k = 0, 1, 2, \dots$, and all real x. Patrick [8] obtained inequality (1.4) for polynomials with real zeros only. For k = 1, (1.4) is the well known and useful Laguerre inequality.

$$(1.5) \quad (F^{(n+1)}(z))^2 - F^{(n)}(z)F^{(n+2)}(z) \ge 0, \ -\infty < z < \infty, \ n \ge 0.$$

Finally, in § 3, we use (1.4) to obtain the inequalities

(1.6)
$$\sum_{j=0}^{2k} \frac{(-1)^{j+k}}{(2k)!} {2k \choose j} u_{n+j}(x) u_{n+2k-j}(x) \ge 0$$

which holds for such values of x, for which the functions $u_n = u_n(x)$ have a generating function of the type

(1.7)
$$\sum_{n=0}^{\infty} u_n \frac{z^n}{n!} = F(z)$$

where F(z) is of the form (1.1).

For k = 1, (1.6) is the interesting and much studied Turán inequality

(1.8)
$$(u_{n+1}(x))^2 - u_n(x)u_{n+2}(x) \ge 0, n \ge 0$$
.

In 1948 Szegö [13] called attention to (1.8) for Legendre polynomials. Since that time the inequality has been studied for other special functions by Mukherjee and Nanjundiah [6]; Nanjundiah [7]; Szász [11], [12]; Thiruvenkatachar and Nanjundiah [14]; Venkatachaliengar and Rao [15], and others. These authors have shown that the functions which satisfy (1.8) include the Legendre, Tchebychef, ultraspherical, Hermite and Laguerre polynomials and the Bessel and modified Bessel functions. A summary of these results are contained in Skovgaard [10]. Also in [10], Skovgaard uses the Laguerre inequality (1.5) to obtain the Turán inequality for sequences $u_n =$ $u_n(x), n = 0, 1, 2, \cdots$ satisfying (1.7). He shows that for such sequences the Turán inequality is a special case of the Laguerre inequality. Then he is able to easily prove the inequality (1.8) for most of the above mentioned functions. These results served as motivation for the work which resulted in this paper.

Some other papers containing results related to the Turán type expressions or inequalities are Carlitz [2]; A. E. Danese [3], [4]; Karlin and Szegö [5]; and Webster [16].

2. "Extended" Laguerre inequalities. We now prove the following theorem concerning entire functions of the form (1.1).

THEOREM 1. Let F(z) = F(x + iy) be an entire function of the

form (1.1) and let $F^{(n)}(z)$ denote the nth derivative of F(z). Then for any integer $n \ge 0$ and any $z = x + iy \ne \infty$

(2.1)
$$|F^{(n)}(x + iy)|^2 = \sum_{k=0}^{\infty} L_k(F^{(n)}; x) y^{2k}$$

where

(2.2)
$$L_k(F^{(n)}; x) = \sum_{j=0}^{2k} \frac{(-1)^{j+k}}{(2k)!} \binom{2k}{j} F^{(n+j)}(x) F^{(n+2k-j)}(x) .$$

Furthermore

(2.3)
$$L_k(F^{(n)}; x) \ge 0$$
 for $k = 0, 1, 2, \cdots$

Proof. We first prove (2.1)-(2.2) for n = 0. Since $F^{(0)}(z) = F(z)$ is an entire function we can write for any z

(2.4)
$$F(z) = F(x + iy) = \sum_{k=0}^{\infty} A_k(F; x) y^k$$

and

(2.5)
$$F(\bar{z}) = F(x - iy) = \sum_{k=0}^{\infty} (-1)^k A_k(F; x) y^k$$

where

(2.6)
$$A_k(F; x) = \frac{i^k}{k!} F^{(k)}(x) , \qquad k = 0, 1, 2, \cdots$$

Since C, α, β , and all z_m are real, $\overline{F(z)} = F(\overline{z})$ and so from (2.4) and (2.5) we have

(2.7)
$$|F(x + iy)|^2 = \sum_{m=0}^{\infty} C_m(F; x) y^m$$

where

(2.8)
$$C_m(F; x) = (-1)^m A_0(F; x) A_m(F; x) + (-1)^{m-1} A_1(F; x) A_{m-1}(F; x) + \ldots + (-1) A_{m-1}(F; x) A_1(F; x) + A_m(F; x) A_0(F; x) .$$

When m is odd, it follows from (2.6) and (2.8) that

$$C_{m}(F; x) = \sum_{j=0}^{M} \left(\frac{i^{j}}{j!} \cdot \frac{(-1)^{m-j} i^{m-j}}{(m-j)!} + \frac{i^{m-j}}{(m-j)!} \cdot \frac{(-1)^{j} i^{j}}{j!} \right) F^{(j)}(x) F^{(m-j)}(x) = \sum_{j=0}^{M} \frac{(-1)^{j} i^{m}}{j(m-j)!} [(-1)^{m} + 1] F^{(j)}(x) F^{(m-j)}(x) = 0$$

where M = [(m + 1)/2]. When m is even, say m = 2k, we have from (2.6) and (2.8)

$$(2.10) C_{2k}(F;x) = \frac{(F^{(k)}(x))^2}{(k!)^2} + \sum_{j=0}^{k-1} 2 \frac{(-1)^{j+k}}{j!(2k-j)!} F^{(j)}(x) F^{(2k-j)}(x)$$

It follows easily that $L_k(F^{(n)}; x)$ in (2.2) with n = 0 is equal to $C_{2k}(F; x)$ in (2.10). From (2.7), (2.9), and (2.10) we have the desired result (2.1)-(2.2) for n = 0.

We now prove (2.1)-(2.2) for $n \ge 1$. Skovgaard [10] shows that the derivative of a function of the form (1.1) is also of the form (1.1). Therefore, all derivatives $F^{(n)}(z)$ of F(z) are of the form (1.1) and (2.1)-(2.2) for any $n \ge 1$ follows from the proof of the n = 0 case by replacing F(z) by $F^{(n)}(z)$.

Next we prove (2.3) for n = 0. Using (1.1) we have

$$(2.11) |F(z)|^{2} = C^{2} e^{-\alpha (z^{2} + \bar{z}^{2}) + \beta (z + \bar{z})} (z \bar{z})^{r} \prod_{m} (1 - z/z_{m}) (1 - \bar{z}/z_{m}) e^{z + \bar{z}/z_{m}}$$

or

(2.12)
$$\begin{array}{l} |F(x + iy)|^2 \\ = C^2 e^{-2\alpha x^2 + 2\beta x} e^{2\alpha y^2} (x^2 + y^2) \prod_m \left[(1 - x/z_m)^2 + y^2/z_m \right] e^{2x/z_m} \end{array}$$

Since e^{2x/z_m} is real and positive for all x we can write

$$\prod_{m} \left[(1 - x/z_m)^2 + y^2/z_m^2 \right] e^{2x/z_m} = \sum_{k=0}^{\infty} C_k(x) y^{2k}$$

where $C_k(x) \ge 0$ for $k = 0, 1, \dots$, and all x. Also $\alpha \ge 0$, $C^2 > 0$, $e^{-2\alpha x^2 + \beta x} > 0$ for all x, $(x^2 + y^2)^r$ is a polynomial in y^2 with positive coefficients that are functions of x, and $e^{2\alpha y^2}$ is an absolutely convergent series in y^2 with positive coefficients. Combining all of these facts with (2.12) we have for any $z = x + iy \neq \infty$.

(2.13)
$$|F(x + iy)|^2 = \sum_{k=0}^{\infty} F_k(x)y^{2k}$$

where

$$F_k(x) \geq 0$$
 for $k = 0, 1, 2, \cdots$.

But (2.1) and (2.13) are identical so we have $L_k(F; x) = F_k(x) \ge 0$ for $k = 0, 1, 2, \dots$, and (2.3) is proved for n = 0.

As in the proof of (2.1)-(2.2), the proof of (2.3) for $n \ge 1$ follows immediately by replacing F(z) by $F^{(n)}(z)$ in the above considerations.

For the sake of better understanding of the functions $L_k(F^{(n)}; x)$ we note that

(2.14)
$$L_0(F^{(n)}; x) = (F^{(n)}(x))^2$$

$$(2.15) L_1(F^{(n)}; x) = (F^{(n+1)}(x))^2 - F^{(n)}(x)F^{(n+2)}(x)$$

$$L_{2}(F^{(n)}; x) = \frac{(F^{(n+2)}(x))^{2}}{(2!)^{2}} - \frac{2F^{(n+1)}(x)F^{(n+3)}(x)}{1! \ 3!}$$

$$(2.16) + \frac{2F^{(n)}(x)F^{(n+4)}(x)}{4!}$$

and, in general,

(2.17)
$$L_{k}(F^{(n)};x) = \frac{(F^{(n+k)}(x))^{2}}{(k!)^{2}} - \frac{2F^{(n+k-1)}(x)F^{(n+k+1)}(x)}{(k-1)!(k+1)!} + \cdots + (-1)^{k} \frac{2F^{(n)}(x)F^{(n+2k)}(x)}{(2k)!}.$$

We further note that (2.15) is the well-known Laguerre expression and that (2.3) with k = 1 the corresponding Laguerre inequality. For this reason we call (2.3) the "extended" Laguerre inequalities.

In [8] we show, among other things, that $0 \leq L_j(F^{(n)}; x) \leq L_j(F^{(n)}; 1), j = 0, 1, 2, 3$, for $-1 \leq x \leq 1$ when F(z) is restricted to the class of ultraspherical polynomials. We conjecture that a similar inequality holds for j > 4 over the same class of functions.

3. "Extended" Turán inequalities. Using Theorem 1 of §2 and the results of Skovgaard [10] we can easily prove the following theorem.

THEOREM 2. Let $u_n = u_n(x)$, $n = 0, 1, 2, \dots$, be a system of real functions which for certain values of x have a generating function of the type

(3.1)
$$\sum_{n=0}^{\infty} u_n \frac{z^n}{n!} = F(z)$$

where F(z) is of the form (1.1). Then for those values of x

$$(3.2) \qquad \sum_{j=0}^{2k} \frac{(-1)^{j+k}}{(2k)!} \binom{2k}{j} u_{n+j}(x) u_{n+2k-j}(x) \ge 0 \quad for \ k = 0, 1, 2, \cdots$$

Proof. As indicated by Skovgaard [10], we have for those values of x where $u_n = u_n(x)$ satisfies (3.1) that $u_n = F^{(n)}(0)$. That is for such x inequality (3.2) is a special case of "extended" Laguerre inequality (2.3).

We note for k = 1 that (3.2) is the interesting Turán inequality (3.3) $u_{n+1}^2(x) - u_n(x)u_{n+2}(x) \ge 0$. For this reason we call the inequalities (3.2) the "extended" Turán inequalities.

Skovgaard used (2.3) with k = 1 to obtain (3.2) with k = 1 for certain classical functions by indicating their generating functions of the type (1.1). These same generating functions, since they are of type (1.1), will, by Theorem 1, satisfy (2.3) for $k = 0, 1, 2, \cdots$. Therefore, by Theorem 2, the corresponding set of classical functions will satisfy the "extended" Turan inequalities (3.2). The following is a list of these classical functions:

(3.4) Ultraspherical polynomials

$$P_n^{(\lambda)}(x), \ -1 \leq x \leq 1, \ \lambda \geq rac{1}{2}$$
 ,

(3.5) pth derivative of $P_n^{(J)}(x)$

$$D^pP_n^{(\lambda)}(x), \ p \leq n, \ -1 \leq x \leq 1, \ \lambda \geq rac{1}{2} - p$$
 ,

(3.6) Laguerre polynomials

$$L_n^{(lpha)}(x),\,-\infty\,< x<\infty$$
 , $lpha>-1$,

(3.7) pth derivative of $L_n^{(\alpha)}(x)$

$$D^p L_n^{\scriptscriptstyle(lpha)}(x), \, p \leq n, \, -\infty < x < \infty, \, lpha \geq -p$$
 ,

(3.8) Hermite polynomials

$$H_{\mathbf{x}}(x), -\infty < x < \infty$$
,

(3.9) pth derivative of $H_n(x)$

$$D^p H_n(x),\, -\infty\, < x < \infty$$
 ,

(3.10) Sine and cosine functions

$$egin{cases} \cos \ \sin \end{bmatrix} nx,\, -\infty \, < x < \infty$$
 ,

(3.11) Bessel functions

$$J_n(x), -\infty < x < \infty$$
,

(3.12) Derivative of Bessel function

 $J'_n(x), -\infty < x < \infty$,

(3.13) Tchebychef function of first kind

680

$$T_n(x), -1 \leq x \leq 1$$
 ,

(3.14) Tchebychef function of second kind

$$U_n(x), -1 \leq x \leq 1$$
.

We point out that (3.4) and (3.5) includes Legendre polynomials and their derivatives.

Generating functions for (3.4), (3.6), (3.8), (3.10), (3.11), and (3.12) can be found in Skovgaard [10]. As in Skovgaard's paper we have analogously, since

$$D^p P^{(\lambda)}_n(x) = 2^p rac{\Gamma(\lambda+p)}{\Gamma(\lambda)} P^{(\lambda+p)}_{n-p}(x), \ p \leq n \ ,$$

that (3.5) satisfies (3.2) because (3.4) does. Also

$$D^{p}L_{n}^{(\alpha)}(x) = (-1)^{p}L_{n-p}^{(\alpha+p)}(x), p \leq n$$
,

so (3.7) satisfies (3.2) because (3.6) does. Similarly

$$D^{p}H_{n}(x) = 2^{p} \frac{n!}{(n-p)!} H_{n-p}(x)$$

and (3.9) satisfies (3.2) because (3.8) does. Finally, (3.13) and (3.14) satisfy (3.2) because (3.10) does.

Using an inductive proof we showed that if $F^{(n)}(z)$ is of the form

(3.15)
$$F^{(n)}(z) = Ce^{\beta z}$$

then

$$(3.16) L_k(F^{(n)}; z) = 0$$

for $k = 1, 2, \cdots$. Also, (3.16) holds at multiple zeros of order k + 1 of $F^{(n)}(z)$. Consequently, given the assumptions of Theorem 2, equality in (3.2) holds for values of x for which $F^{(n)}(z)$ is of the form (3.15), or for which z = 0 is a zero of multiplicity k + 1 of $F^{(m)}(z)$.

Acknowledgement. The author is grateful to Professor L. Carlitz for his assistance.

References

- 1. É. Borel, *Lecons sur les fonctions entières* (Collection de monographies sur la théorie des fonctions), Paris, 1900; 2 ed. 1921.
- 2. L. Carlitz, Note on Legendre polynomials, Bull. Calc. Math. Soc., 46 (1954), 93-95.
- 3. A. E. Danese, *Explicit evaluations of Turán expressions*, Annali Di Matematica Pura ed. Applicata, (4) **38** (1955), 339-348.
- 4. _____, Some identities and inequalities involving ultraspherical polynomials, Duke Math J., **26** (1959), 349-359.

5. S. Karlin and G. Szegö, On certain determinants whose elements are orthogonal polynomials, J. d'Analyse Mathématique, 8 (1960/61), 1-157.

6. B. N. Mukherjee and T. S. Nanjundiah, On an inequality relating to Laguerre and Hermite polynomials, Math. Student, **19** (1951), 47-48.

7. T. S. Nanjundiah, A note on an inequality of P. Turán for Legendre polynomials, Half-Yearly J. Mysore Univ. Sect. B., N. S., **11** (1950), 57-61.

8. M. L. Patrick, Some inequalities concerning Jacobi polynomials, SIAM J. Math. Anal., 2, May (1971).

9. G. Pólya and I. Schur, Über zwei Arten von Faktorenfolgen in der Theorie der algebraischen Gleichungen, J. Reine Angew. Math., 144 (1914), 89-113; cf. pp. 96-767.

10. H. Skovgaard, On inequalities of the Turán type, Mathematicae Scandinavica, 2 (1954), 65-73.

11. O. Szász, Inequalities concerning ultraspherical polynomials and Bessel functions, Proc. Amer. Math. Soc., 1 (1950), 256-257.

12. ____, Identities and inequalities concerning orthogonal polynomials and Bessel functions, J. Analyse Math., 1 (1951), 116-134.

13. G. Szegö, On an inequality of P. Turán concerning Legendre polynomials, Bull. Amer. Math. Soc., 54 (1948), 401-405.

 V. R. Thiruvenkatachar and T. S. Nanjundiah, Inequalities concerning Bessel functions and orthogonal polynomials, Proc. Indian Acad. Sci., Sect. A., 33 (1951), 373-384.
K. Venkatachaliengar and S. K. Lakshmana Rao, On Turán's inequality for ultraspherical polynomials, Proc. Amer. Math. Soc., 8 (1957), 1075-87.

16. M. S. Webster, Non-linear recurrence relations for certain classical functions, Amer. Math. Monthly, **64** (1947), 249-252.

Received October 4, 1971. This paper was written while the author was a visitor at the Seminar für angewandte Mathematik, ETH, Zürich.

DUKE UNIVERSITY